BREMHRRETEHIE (FRMS) hik THTE 7HA 318 (K)
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() ART=®) (M) (M) (M) (kg)

=LZ\CA 19.1 JtiEE 19.0 — 1,620 — 0] A L
IZALA 24.5 JtiEE 14.1 3,024 3,024 2916 10 Va9 M
ES) 11.0 IR 8.3 2,808 2,700 2,160 0] A M
[E<ELY 28.1 £ % 27.9 1,836 1,620 1,404 15 A L
HTE 1.8 BERE 1.1 1,944 1,512 864 4f A M
—EOH 8.1 ERE 5.3 1512 1,458 1,404 4f A M
FrRY 87.8 B E 76.9 1,415 972 864 10 Va9 8
IE5NAZES 1.9 = I 0.2 — 227 — 02 A L
hE 7.2 X & 5.2 1,188 540 540 3l vay LL
_hE 2.0 ik B 0.9 1,944 — 1,620 3 L
_hE 2 [ 0.8 3,888 2,592 2,268 3l A M
125 25 ElG 15 4,320 4,050 3,024 5] vay
+)L1)— 0.9 & % 0.9 — 4,860 — 10 A L
FRINGHR 3.1 B X 1.8 108 108 86 0.1 L
LA 47.4 E % 47.2 1,388 972 972 10 A LL
FoTYA 1.1 BRE 0.6 — 1,728 — 4f A L
=Y 27.4 B K 13.8 - 1,836 — 5] vay L
=p5Y ElG 12.2 1,728 1512 1,296 51 B M
ANESSES) 2.7 BE A 0.4 3,240 — 2,160 10 vay 8
Y 9.4 EES 35 - 2,160 — 4 vay L
Y = I 35 2,376 2,052 1,836 5/ A L
k2 34.8 X & 18.3 1,296 1,080 972 4 B 20
TS EES 115 1,728 1,404 1,188 4 vay L
S 11.0 EES 5.9 194 162 151 02| vay M
F—<> 9.5 X 7 3.3 93 — 86 0.15 A M
ES5HACL 1.3 E % 0.1 2,808 1,966 1,544 5 A LL
x93 1.9 BRE 1.9 540 92 54 0.3
[Zht5HY) 10.9 ERE 10.9 1,685 864 864 3l A L
SPVAITFA 0.2 =l 4,860 - 4320 2l A L
MALE 4.1 E X 3.0 2,160 — 2,106 5 S
IEhLs 18.3 E 5 6.4 972 — 864 10 L
IEhi s E 15 1,188 1,026 972 10 LL
=N 0.1
f=Fh&E 56.3 = B 42.7 2,808 2,700 2592 20 va9 L
ELLV=T 2.0 BERE 0.1 — 119 — 0.1 Vi L
ELLV=IT E 15 0.5 - 173 - 0.25| M M
ZADEET 7.4 E I 5.5 32 23 22 0.1 A
LHL 2.8 2 [ 2.2 97 65 62 0.2
ESES T 473.4
B=

o fm B & E th = E hfE =7 & £ B
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() ATT=®) (M) (M) (M) (kg)

BMAHMAEE 13.4
INGRH DA 13.4 i B 8.5 4,320 2,160 2,052 5 L
INGRH DA i B 4,860 2,160 2,052 5 M
INGRH DA i B 2,160 — 2,052 5 S
LEY 0.8 F Y 0.5 7,344 7,020 6,480 17 140
INLULT 1.6 = I 1.6 7,344 7,344 3,888 17 72
L7 2)1LY 0.3 mr2Y 0.3 — 4536 — 15 50
3HET 1.4
% 1.2 & % 0.5 — 432 — 05| vay L
FTHHE 0.1
ERGS 0.1 " - 432 — 0.5 6
B5E5
SESE 5.7
To9Jz7F 0.5 =I5 0.2 - - - PR LL
To9zF =l - 2,592 — 16/ A L
To9x7F =I5 - - - PR M
Big 3.3 2 [ 25 2,376 — 2,160 14| B 3L
EA—* 0.3 = I 0.1 7,020 — 6,480 4 6
W52 0.1 BRE - - - PR
[AX-Ye FA)Ah 0.1 724 724 702 0.28
AO2EF 6.5
7—IJLR 1.2 EES 1.1 - 1,728 — 4| 742 3L
FDAOY 5.4 BERE 1.6 — 1,296 — 4 D 5L
ERRYOY1s 325
ERRY 27.1 BRE 22.0 864 756 702 6] A M
CEETLH 5.4 BRE 5.2 2,592 2,160 2,160 0] A 3L
INFF 10.5 EYEY 10.4 4104 2,808 2,808 15
NAFyFTIL 2.1 EYEY 2.1 3,564 3,132 1,620 10 5
FoA4T)LY 0.8 —oT 0.8 6,156 — 4,050 75 4
RERE 81.2




